- ‘3'. Sy - @ A 2 O 2 2

AR [BEYG RAETHAE

(B#RzR)

09402




PM,, (pg-m?)

\ 1|

—

—

—
p—
—

@EDDEEIU

WS:[@i® WD:E[ RHARERE

= RH <& WD
12 100

PM10 W5 =

- VoYYV

N\ vy v _.." 9 80

\ ¥/ . = -
v E ®
80 6 £ 60 T
yv v g -
40 4, \L ¢¢ ¢ 3 40
0 0 20
0 2 4 6 8 10 12 14 16 18
Time (hr)
PM10 WS -#- RH <& WD
- 12 100
_ —
e N\
120 \ 9 80
> ? =
%0 N\ _o-foHeHo = ot s E o0
vy YVNVLyy g ®
40 ¢ ¢ ¢ 3 40
< VK
0 0 20
0 2 4 6 8 10 12 14 16 18
Time (hr)

ERRIRIRERE

ERRE A

It
I
o

AHREME

Wt

6&%"
I~

0 mm

HEEm=

((~
Ja-

|

ERRERFREZRmEENH



BTE
BiEXS LT

111/08/25

FB=E
SRR (74msta2es) ETibF

Sy

| 11170825 = —111708725 L 111/08/25 D)



3% L 5 %
1114888H PLANT ey i T

RERBK L _TEEIE KL BE

0.58
e HE 108158 14

0 02 04 06 08

AEEE O BiHEE

-



111%FE
BEKPIEEE

=3 »

> I KE= gamap
- ERE CICH . E1E(E : 400 AE . BiEE:4AE

. O5Ri:- AE - B5xE:455 /8
- . ERIE:113.8%

o ERE:-

Y

- BtE{E :450 AlE - BEE: :25RE - BtEE:50 AtE
e B5eaL:27.2 AlE e B58R:1.140E8E e B5A:6 QA

+ EAE:6% . ERLE :45.6% + EAME:12%



2B A SE3E TriEER HAE TriEEE S FESNHE
*%
==

%% HEZ=E(20220808)
E1E ZEHE FE2E AR EIE Tl EAE THIRE =cE FmIRE

EEEE EEEE EEEE AEEEE B
1) SUERIL0.56AE 1) SUERIP0.58AE
1) BE T bR _tERE_4AE 1) P& FR s _itES b 24
1) BET bR _E# 14508 1) KRR BOKBE R AR
BW13AE

2) BB LmFE_ER_1.8/E

1) 22575 _FERT AR
2) mEMEF_KZL05AER
3) 20/E_KA0.8 AR
4) BB NEE_K&RTANE
= o =/1 /\ g
5) E/%—Fj-tl_(iani) IK&R15AE Q 6




	投影片編號 1
	投影片編號 2
	投影片編號 3
	投影片編號 4
	投影片編號 5
	投影片編號 6

